
Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

1

List of machine draft
N. Draft

1 TAV. 05-1 MULTICONNECTOR-QUICK COUPLING ADAPTOR WEO VERSION

2 TAV. 05-2 MULTICONNECTOR-QUICK COUPLING ADAPTOR BSP VERSION

3 TAV. 89 COMPARE 2nd 3rd GENERATION MULTICONNECTOR MACHINE SIDE

4 TAV. 92 BSP MULTICONNECTOR MACHINE SIDE 2nd GENERATION

5 TAV. 93 BSP MULTICONNECTOR MACHINE SIDE 2nd GENERATION

6 TAV. 96 BSP MULTICONNECTOR 3rd GENERATION MACHINE SIDE

7 TAV. 97 BSP MULTICONNECTOR 3rd GENERATION MACHINE SIDE

8 TAV. 99 WEO MULTICONNECTOR MACHINE SIDE

9 TAV. 99 WEO MULTICONNECTOR MACHINE SIDE



Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

2

 Component list [ TAV. 05-1 MULTICONNECTOR-QUICK COUPLING ADAPTOR WEO VERSION ]
Pos. Code Description Q.ty
1 C030376 NIPPLES M 1/2" M 1/2" 3.00000
2 C030456 FLAT FACE QUICK COUPLER MALE 1/2" 1.00000
3 C030457 FLAT FACE COUPLING FEMALE 1/2" 2.00000
4 C030481 HYDRAULIC MULTICONNECTOR PLATE, ATTACHMENTS 3 WAY 1.00000
5 C030488 WEOM  1/2" - F 1/2" GAS ADAPTOR 2.00000
6 C030489 WEO M 3/8" - F 1/2" GAS ADAPTOR 1.00000
7 C030542 1/2" G BONDED WASHER 6.00000



Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

3

 Component list [ TAV. 05-2 MULTICONNECTOR-QUICK COUPLING ADAPTOR BSP VERSION ]
Pos. Code Description Q.ty
1 C030374 NIPPLES M 3/8"" M 1/2"" 34.67.08.06 1.00000
2 C030376 NIPPLES M 1/2" M 1/2" 2.00000
3 C030456 FLAT FACE QUICK COUPLER MALE 1/2" 1.00000
4 C030457 FLAT FACE COUPLING FEMALE 1/2" 2.00000
5 C030498 HYDRAULIC MULTICONNECTOR, ATTACHMENTS 3 WAY 1.00000
6 C030542 1/2" G BONDED WASHER 5.00000
7 C030547 3/8" G BONDED WASHER 1.00000



Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

4

 Component list [ TAV. 89 COMPARE 2nd 3rd GENERATION MULTICONNECTOR MACHINE SIDE ]
Pos. Code Description Q.ty



Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

5

 Component list [ TAV. 92 BSP MULTICONNECTOR MACHINE SIDE 2nd GENERATION ]
Pos. Code Description Q.ty
2 C033003 MALE-MALE CONNECTOR 1/2" G - 15L 2.00000
3 C033001 MALE-MALE CONNECTOR 3/8" G - 12 L 1.00000
4 FF1187/109324975 MOUNTING BRACKET 1.00000
5 FF1187/109324992 LOCKING LEVER PIN KIT 1.00000
9 FF1187/109324970 LOCKING LEVER KIT 1.00000
10 FF1187/109324971 BACK LID KIT 1.00000
11 FF1187/105651905 BSP 1/2" GAS COUPLING INSERT FEMALE MULTI 2nd GEN 2.00000
12 FF1187/103651903 BSP 3/8" GAS COUPLING INSERT FEMALE MULTI 2nd GEN 1.00000



Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

6

 Component list [ TAV. 93 BSP MULTICONNECTOR MACHINE SIDE 2nd GENERATION ]
Pos. Code Description Q.ty
1 C030497 HYDRAULIC MULTICONNECTOR, MACHINE 3 WAY 1.00000
2 C033107 MALE-MALE CONNECTOR 1/2" G - 18L 2.00000
3 C033001 MALE-MALE CONNECTOR 3/8" G - 12 L 1.00000
4 FF1187/109324975 MOUNTING BRACKET 1.00000
5 FF1187/109324992 LOCKING LEVER PIN KIT 1.00000
9 FF1187/109324970 LOCKING LEVER KIT 1.00000
10 FF1187/109324971 BACK LID KIT 1.00000
11 FF1187/105651905 BSP 1/2" GAS COUPLING INSERT FEMALE MULTI 2nd GEN 2.00000
12 FF1187/103651903 BSP 3/8" GAS COUPLING INSERT FEMALE MULTI 2nd GEN 1.00000



Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

7

 Component list [ TAV. 96 BSP MULTICONNECTOR 3rd GENERATION MACHINE SIDE ]
Pos. Code Description Q.ty
2 C033001 MALE-MALE CONNECTOR 3/8" G - 12 L 2.00000
3 C033003 MALE-MALE CONNECTOR 1/2" G - 15L 1.00000
4 FF1187/109324936 1.00000
5 FF1187/099320921 1.00000
6 FF1187/109324992 LOCKING LEVER PIN KIT 1.00000
7 FF1187/103651908 BSP 3/8" GAS COUPLING INSERT FEMALE MULTI 3rd GEN 1.00000
8 FF1187/105651908 BSP 1/2" GAS COUPLING INSERT FEMALE MULTI 3rd GEN 2.00000
9 FF1187/109324951 LOCKING LEVER FEMALE MULTI 3rd GEN 1.00000



Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

8

 Component list [ TAV. 97 BSP MULTICONNECTOR 3rd GENERATION MACHINE SIDE ]
Pos. Code Description Q.ty
2 C033107 MALE-MALE CONNECTOR 1/2" G - 18L 2.00000
3 C033003 MALE-MALE CONNECTOR 1/2" G - 15L 1.00000
4 FF1187/109324936 1.00000
5 FF1187/099320921 1.00000
6 FF1187/109324992 LOCKING LEVER PIN KIT 1.00000
7 FF1187/103651908 BSP 3/8" GAS COUPLING INSERT FEMALE MULTI 3rd GEN 1.00000
8 FF1187/105651908 BSP 1/2" GAS COUPLING INSERT FEMALE MULTI 3rd GEN 2.00000
9 FF1187/109324951 LOCKING LEVER FEMALE MULTI 3rd GEN 1.00000



Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

9

 Component list [ TAV. 99 WEO MULTICONNECTOR MACHINE SIDE ]
Pos. Code Description Q.ty
2 C033402 45° FITTING WEO SIZE 3/4" FOR 1/2" HOSE 2.00000
3 C033405 45° FITTING WEO SIZE 1/2" FOR 3/8" HOSE 1.00000
4 FF1187/109324975 MOUNTING BRACKET 1.00000
5 FF1187/109324992 LOCKING LEVER PIN KIT 1.00000
9 FF1187/109324970 LOCKING LEVER KIT 1.00000
10 FF1187/109324971 BACK LID KIT 1.00000
11 FF1187/105651907 FEMALE JOINY KIT DN 12,5 2.00000
12 FF1187/103651906 FEMALE JOINY KIT DN 10 1.00000



Draft and part list report
Serial n / code NA / C880221
Description MULTICONNECTOR TO SINGLE LINE QUICK COUPLING, 3 LINES FOR MACHINE

10

 Component list [ TAV. 99 WEO MULTICONNECTOR MACHINE SIDE ]
Pos. Code Description Q.ty
1 C033401 45° FITTING WEO SIZE 3/4" FOR 5/8" HOSE 2.00000
3 C033405 45° FITTING WEO SIZE 1/2" FOR 3/8" HOSE 1.00000
4 FF1187/109324975 MOUNTING BRACKET 1.00000
5 FF1187/109324992 LOCKING LEVER PIN KIT 1.00000
9 FF1187/109324970 LOCKING LEVER KIT 1.00000
10 FF1187/109324971 BACK LID KIT 1.00000
11 FF1187/105651907 FEMALE JOINY KIT DN 12,5 2.00000
12 FF1187/103651906 FEMALE JOINY KIT DN 10 1.00000


